Section 8.3

7 -pOH'\ Xa-a x= asecd
B AN !h - X=
K- VAR
- ﬁ
|

5eCB tane do dxz seco Lanp 4y
3 Sftxe- 5(;"9-‘

tane do S ds _ S 058 dg
setd kang

secé
Swe + L

____.;’a".»c,\
x

G

[

2 3
%X+ a8 = %Xz atanp

xX=2. o=
‘X‘w.\ - X= a£0ﬂ9< il

W2 -
2. é.['g\/[z + 4 dr=

Jd
4

x
4 N N o
3 3tonpNitanpty 35¢ 8de \ dxcasecode > O7°
’ d(tan e )
qn?e
‘ .
S 3Lan B 2 Seco 3 SeC e de
o
0 = G
3 =7y Uz A
32 Sq Lan & sec 0 do u: seed 4
’ JU:S“M ©=0,uz)
2 S% Lan © sec ©5tto tanddo
\__V_J’-."_' ~s"
’ 0 a ua AU
gec &=\
Y G/q4 2
* o)



A 3 A%
3. /\/ﬂ-2+5__{-.+.-d.a-= “A4bx ¢ 2
-(-xa-(.x +9 ) +7+9
a
'(1(-3)*'\6

S ;Slb‘(x' )-.\ Jx o ‘Xa—: %z QSO

lo- (x-3) = %-3=4swne

dx= 4cosede
,S a_. Ycosede
S -l S\ 8 a
o (1 - wo\ lbj ws ©de
IBQOS 2}

to g-(l*coscam)de

Je
S deose U 0SB 8{9‘\-; *c

XSv\ocnso
- Sweé 8 [e+ Smecoso] + 0,

iy
""" g -.x-;fﬂm:z,?)w
sSwn
- Y 9 4
A x4

Section 8.4
3 .£'3+1 3 'x “ \
4. /2 2z 1) dr = S Ax Jx
2

F
X\ K] . f Oc
_‘xs-\--xa A+ _(:4._6—- + ;_._‘- 'X(ﬂ"l)
=X X Tt
LA S

’X‘*\- Ax (x- \\-\'i"x '\“’/z“
xz0: V= ac-2) - @z
P e

5= A(a)—\f b4
3.“:"a

s5z=af+1 ™
x-\-\)Jx_ S ( ;".-_':5-;;:‘.‘)&“

= (%= Dalxl 4 x* a!n\x-||) )a

Xz A%






Section 8.9 x

uz nx
?.Lz (TN X —O\L—; dus Ax
et pae Je x(2ex) T X
t S.A_g-- "—L = -_!_
TR Anx

- \\m -—L'
La® Anx e

0 converqes +o »\
\
- ‘\m —7'2 +* 3 z m L=
Ls @ e L2ne
3\4\5""“‘5 °
. t
= PS ! dr = \"“ _ S _____-A7<
1 Pr— ) ' m
3
- lim a
- - X
Lsa” Sl (‘X ﬁB
a t

1 i
3 &
i ’ :;,
D)o
‘—’1
N
| °
£

_ ] verq
‘3—- —l-() - ] (Q Con S

(A
W



W el -
W - -
” - )
)

10, Use the comparison theorem to determine whether
the following improper integrals converge or di- o -a%
verge:
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Section 9.3
142

L. Find the length ol the curve v = ——y 2 _ 1 from
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13, Find the lengih of the curve @ = cost, y = sint.
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Section 9.4

14, Find the surface area of the region obtained by ro-
tating the curve y = 2, 0 < ¢ < 2, about the y
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15. Find the surface area of the region obtained by ro-
tating the eurve y = /. 1 < & < 4 about the x
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Section 10.1

17. Discuss the convergence or divergence of the follow-
ing sequences:
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15, Determine whether the sequence is bounded:
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19, Determine whether ollowing sequences are increas-
ing, decreasing, or not monotonic.
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200 Consider the recursive sequence delined by a) = 2,
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21, Given the recursive sequence below 1s increasing and
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Section 10.2

22, Use the Test For Divergence to show the series di-
Verges:
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23, Explain why the Test for Divergence is inconelusive

when applied to the series f sin (i)
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25, Find the sum of the series:
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